1.- SERIE: NUumeros, potencias, raices

1 Simplify as far as possible, given that x = -\/5, ¥y =20

4 xd b 3?2 ¢ x+y d 2x-3y
e 2 f o g /Xy
¥

2 Express these in terms of the simplest possible surds.

a V80 b 32 c V72 d 180 ++/125
3 Rationalise the denominator of these fractions.
7 L b L g 4 — 1
V3 V2 V7 4—+/10
2 £ 3 q 3
V6+2 26 V6 —+/5

4 A square has area 6cm?.
Find its perimeter.

5 A rectangle has sides (4 — Vv7)em and (3 + 2v/7)cm.
Find its perimeter and its area.

6 A rectangle has area (6 — v/3)cm? and the length of one of its sides is (2 + V3)em.
Find the length of the other side.

7 The sides of a rectangle are in the ratio 2:3. The diagonal is of length 26 cm.
Find the perimeter.

8 A cube has volume 10cm’.
Find the sum of the lengths of the sides, and the total surface area.

9 Given that 72 = 2* x ¥, find x and y, given that x, y € Z.
10 Simplity

a 3 x3 b V64 x V64 x V64 ¢ TEXTIXTS
d (0.2)4><5‘jr e (2.5)3><43 f 6% x 36%

V6



11 Work out these values, giving each answer in index form where possible.

a Px7x74 b 3% x35x32 € 4 @2
R 2[0
d 2 x5x%x5 e 210_ 75 f o
83 . 76
— h 66+6 -
9 8 73
i k (%
12 Simplify these, where possible.
a a*xadxa b » +p3 ¢ 2¢° 4+ 3¢3
d & xd* x > e & +¢° f 3f2x2/3
g 4g° x 54 h (1%’ i )
i G k (2k%)? | (7/6)?
m (m?n)’ n (p*¢%’ o (3rs)’
4 ,6
P viw x vw? q = F 2
3 32
6
s
z
13 Simplif these, where possible.
. plity p
a ot - b 34%—3p° c 7¢°—17¢3
6 3 G4
d 3d " 10e £ 497
3d? 2¢? i
g gb h k2 i V2504
i 97 -8 k 3k% + 4k | /1820
m +/4n2p? n /¢ o 7 +77

P 3s*+ 454 q 1587 —15¢* r w—y



Test yourself

1

10

(3v/5)” is equal to

A 45 B 15
(a®) 2 is equivalent to
A o B L

C 95

C

{.13

The expression 4v/63 — 5v/28 is equal to

A —/35 B 27
D 308 E none of these
7 x 10! 4 8 x 10'%? is equal to
A 1.5x 1012 B 5.6x 10"
D 8.07 x 10'% E 1.5% 1035
2133
s bs) is equivalent to
(ab)
6 g B2 !
a’b* h? b*
V12/15+/20 is equal to
A 60 B 60415 C 30v2
(%)? is equal to
A 1965133 B % C 21%

When two surds are multiplied, the result is

A

m g N @

_ V6
24++/3

A \m§ B 2/6_3v3 C %

(

A

E

always a surd

never a perfect square
never rational
sometimes rational

either irrational or prime

1s equal to

a*h\? . .
— - s equivalent to
o2
@b azh
_ B 4
(4 03

none of these

ath

D 45

E 6/5

—v

C 7.08 x 10'%

D (2(;)%

D 6012

D 3v/2-2V6

cvV'b

a?

E 8a9h "2

m
3
<

1~
S

E VI2-V6



1.- SERIE: Numeros, potencias, raices (SOLUCIONES)

1a 5 b 20 ¢ 35
d 45 e 2 f 55
g V10

2 a 4/5 b 42 c 62
d 115

3aiv3 b 12 c 47
d i—l-ﬁ\/lo e V6-2 ¥ %v’g
g 3(V6++5)

4 4+/6cm

5 (144 2v7) em; (5v7 — 2) cm?

6 (15—8v3)em

7 20v/13cm

8 12¢/10cm; (6 x 107) cm?

9 x=3 =2

10 a 3 b 64 c 7
d 1 e 1000 f

11 a 7° b 3" c &0
d §’ e 992 f 2
g 8§ h 222 i P
j ¥ k 5°

12 a & ¢ 5¢3 d 4*
f 6f° g 20g° h A2
i 02 i 92 K 4k®
| 49712 m mbn’ n pig'
o 9rls? p viw? q x
r y* s 2z

13 d 4* e Se f 17
g g’ h # i 5%
§ ¥ 1 P m 2np
n g* o 2¢’ p 7s?
q 0

Test Yourself (p. 21)
1A 2B 3B 4D
9 B

5B
6 A 7D 8D 10 D



